Rk 28 47 H 15 H

greesy

k=11{[}
P

Rk 28 FEIT I T D Sl K =R AR BT DUV T
(6 AR, ¥k 28 4F 7 HHEHR)

1 BRI
IR 46,332 A\
- EE 382 A

2 FEBSE DIEARDL

(1) ZERRRIF AR

S e 10, 746 A
e 6,001 A
bz BEEW)iE L 5,732 A
o= IRPESE 20, 536 A\
(2) e DRIRIRE AR

i ] 11,579 A

75 SR T3 8,026 A
TS FEN o BXIAEN 5,738 A

(BTAERIHIEE +1, 208 AL 2. 7% H0)

(

(
(
(
(

AITAF

[F]

[F]
[F]
[F]
[F]

A3 AL 0. 8%

Wk +102 AL 1. 0%#E00)
A99 A, 1.6%EA)
+211 A, 3. 8%n)
+984 A 5. 0% 0)

(BTAERIMIEE +1, 028 AL 9. 7%H440)
Xl XfFix [STOP ! #fESKETr =7 ) EhHh

(
(

[F]
[F]

+73 AL 0.9%HEH)
A303 A, 5. 0%E4)

SLUR . TEY R R - SEER 2B ()| TO)dL- 29740, Tas@eife GER) | DIIA

3 TS EOFRAIRDL

(1) ZERERIF AR

S e 84 A\
FREER 116 A
bz B W) iE L 38 A
(2) FHL DORUBIFE AR

Bk« dnik 106 A
RimFEH GER) 81 A

(RAERIIEE +22 AL 35. 5%#400)

(
(

[F]
[F]

A19 AL 14. 1%)/)
A5 AL 11. 6%JE/)

(BTAERIMIEE +3 AL 2. 9% 00)

(

[F]

A9 A, 10. 0%E)

PR 27T 5 Hn O~ TOHM A G & L 7 Al 578 S 7 k565 & F2 i

TS FEN o BXIAEN 65 A
KULTF, T#Zesi). TRAsE- 88 |

(

[F]

+4 A, 6. 6%

(K - %1 DA



(%) § 12 WSS ERS IREHE (ERL 256~29 4E) 0 B K O Rk 24 4E[6 H ke

(DFETHFE (6 £ BEE)
2FEZE (15%LL )

RERE (%L EjEd)

R (20%2L EjEA)

(2) e SE (5 £ D BAR)
BFEE (15%LL Ejsd)

b EEwEEEE (10%LL EkD)
/NFEdE (20%2L EEA)
Ak (10%L L)
BRI (20%LL )

R 24 AR A b
A62 N, 14. 0%
A3 N, 3. 4%
AN42 N, 26. 6%
R 24 AR A b
A1,333 A, 2. 8%
+27 A, 0. 5%E00
+184 A\, 3. 6% N
+611 A, 27. 2% 00
+186 A, 12. 0% 0



